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— > Find the general solution of the differential equation ty'+2y=¢e. (10%)
— Use the Laplace transform method to solve p"" +dy'+3y = 2e" ,» ¥O)=Tlandyp'(0)=0. (10%)
. s2+125 432

= Find the inverse Laplace transform £'[ 7, 0134 | =2 (10%)

PU~  LetA=

[ E—
3]

;'J. Find A" =2 (10%)

T~ The 3x3 matrices A, A,, and P where P is nonsingular satisfy A, = P'AP. Show that all the
eigenvalues of A; are the same as those of A, . (10%)

75 Solve the differential equation y"(x)+2y'(x)+ p(x) =¢™". (10%)

+~  Consider (1,0,1),(0,1,0),and (1,1,1) inz'. Determine and give a reason whether the three vectors are
linearly independent. (10%)
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Solve the system of equations (10%)
=X+ X, +3x, =2

X, +2x, =4

JL > Find the eigenvalues and corresponding eigenvectors for (10%)
(2 1 0)

A:‘O 20
00 2

\

+ -  Let 4 asthe following matrix. Find 4°. (10%)
g

S -4 4
A=[12 -11 12
4 -4 5

\




